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Math 114 — MPS Tuesday, January 19, 2016

Quiz 5

Solutions given without showing work may earn a zero. This quiz
is closed-book, but you may use a calculator.

Solve the following rational equations.

8 2 4
Problem 1. [5 points] 2_09 1_3 x+3
Problem 2. [5 points] —— + —— 3
roblem oints -
P t1l -2
+ — 2
< 2 Y S -
€ B _ + \CX
QEENESEY X =3 AT S Sems
P ——
] (35255 3) ( 2 _ 4 \.
IR S - =
/XD \ e
g: - p (x-’—%\% ~ __Li__b (}(\25\(7\—')3\
)(/'{ | V)/g ]
8= 2(x+3) -4 (x-2) CE oo = 2 -
T 2w b Ui .
L= —2% +19 R
-1 = -2

)

)

\

( %+ (x=73)




+ —L =3 xt ol wE=
K+ % - L eT>= (x+1)(x-
I IV WAV AN 4 (X DL
jX;VT/’_- , — 7 = /
3w (X=2N + ¢ (x+1) = (RT= 2%+ w2\
3x Tl % # Yyt Yy = 3(xl-x—z\
2 -2% Y o a3y (L

2

= 2 (%3N (2



